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M1 X 201989 % A - M= 0iasSH & SAHEZ LA NLE = A= HOH2 UsH 20 (ol M)

+ =2 Ng - HE0&tEN 2 Al Xt Bt N
g A 1,374,916,639 41,247,499
& B3 Al 1,184,564,993 35,536,950
SEE3A 190,351,646 5,710,549
SILSES A 167,672,985 5,030, 190
AT ASSEIA 36,665,370 1,099,961
St=Z AHSSE 3 Al 64,135,843 1,924,075
SSML ML SE S 66,871,772 2,006,153
JIEFSE3 22,678,661 680,360
LEAFHIAX AL EE S 301,428 9,043
SADNSAMESES N 6,658,786 199,764
2sdII=SE=AAH 3,950,080 118,502
FEHINLSE A 7,006,045 210,181
SAIHEAMNESE A 4,222,679 126,680
SIIDIEHCANAHEANEHXNZASE S A 539,643 16,189

H 22X MY -HE ode SAEsE €8 "ML - ME ola"D 20,

M 3 X MR A2 "HEUS"

o4 X ASHAEZ2 "HSH MBEA"2 20,

M 5 X ZAOEMAZ2 "BAOE MAEN"2 2L,

H 6 & ZESIH Oidlbl= 27,228 1228 22 &Lk,

M7= NEMH MY SEH2 32,000,008 22 &L,

M 8 x= NEMEY M47E Mg AR 28 J= 2001 Z&5E BHles &5 018 &= UL




